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BACHELOR OF ARTS (HONS.)
ECONOMICS (BAECH)
Term-End Examination

June, 2024
BECC-112 : DEVELOPMENT ECONOMICS—I

Time : 3 Hours Maximum Marks : 100

Note : Answer questions from all the Sections as
directed.

Section—A

Note : Answer any two questions from this Section
in about 500 words each. 2x20=40

1. Explain Harrod model of growth with the help
of a diagram. How does the Harrod model
explain the occurrence of trade cycles ? Also
explain how 1s Harrod model different from

Domar model of growth.

2. Critically examine Endogenous growth theory.
Discuss the policy implications of Endogenous
growth for developing and developmed

countries.

P.T.O.
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What 1s meant by the term ‘nequality’ ?
Discuss the concept of economic inequality. Also
explain various axioms that should be

possessed by the inequality measures.

Explain the theory of regulatory capture. How
is public interest theory of economic regulation

different from public choice theory ?

Section—B

Note : Answer any four questions from this Section

10.

in about 250 words each. 4x12=48

Distinguish between Economic growth and
Economic development. Discuss the

characteristics of developing countries.
Explain classical theory of economic growth.

How 1is the concept of ‘technology trap’

explained in the Solow model ?

Explain the ‘Learning by doing’ model by

Kenneth Arrow.

Discuss the factors that should be considered

while devising an institution.

What is market failure ? Describe the various

types of market failure.
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Section—C

Note : Answer both questions from this Section.

2x6=12
11. Write short notes on any two of the following :
(a) Millennium Development Goals
(b) Tragedy of commons

(¢) Lorentz curve

12. Distinguish between any two of the following :
(a) Sigma and Beta convergence
(b) Hicks neutral and Harrod neutral change

(¢) Absolute poverty and Relative poverty

P.T.O.
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